obstacle
2025\ SH=PHHSET|OtE 2XHH| 2|

I | — |

o=

CHM2 XRED 8H 2SEUA o= FI7] =012 otd ULt =0|l= £2M 2|9 21X 00|M A|ZtstEH, 2t
HOlEL 21 ZHH XHIE X7 < X9 < ... < Xy0l = ULt X; > 10]|C}.

SHalo] SEE 2xM 9o £l NJHe| HoH22 BE Hojds 20|tk S ¢ish YAIS CheT 22 £ JHx
A O

. QEZOR 1913 HO|ZITE X, 91X 20l M AIRRICHH 2 + 10 SAFSIC
. 22%O= 20K WIBITE X, 91X 20l AIRRICHH 2 + 20| SAHSIC

oS HEZ goUtts A2 SKelth ChAl 238, 91X X0 A= Soli=S
[n] IT

k=]
FO{F2{H BEA| 2X] X; — 10M RLEZRLZ 20T HISHA 21Xl X; + 10| =26HOF BrC,

O£ =01, otz 22 ap ZHo| %M 9[9f 9IX] 2,5, 110]| Zo{=0| 50 UCt 7HHSHK}.

? 7 7 | S S T T T T & O
CIS2 22 YHSE FoiEs 25 J0Z = QUL ot —= #7 = HIZE oofetrt

e HH20 2 1=—3 24— 6=—8=— 10— 12 (73] 0|5, HOH=E 37 )

+1 +1 +1
- -
~ 7’ ~

SRX|2, Ch3at 22 YEE2 HoligS 25 90 Z + gith

e W3 0=—=2=—4—6— 8 =— 10 =— 12 (63| 0|5, ZOHE 271 HS)

obstacle (1 of 3)



/ A N \\1[ I_I \\II
g 1 2 3 4 5 ] 7

e HHAO) 2 1=—=3=—5=—7=—9— 10 = 12 (73] 0|5, Ho{=E 274 )

- - - -
// \\\ // \\ // \\\ // 7’ ‘\\
e Y 1% / 1
T T T T T T T T T T

e 50 —-1=—3—4—5=— 73 0|5 iz 171 )

. FOIX|E BE & WaolTt,
« 1 <N <250000
e 1 <X < X< ... < Xy <£250000

|

2. (128) N = 1, X; < 5000
3.(23F) N <5000,1 <i < Nel2E ¢of cistod X; < 5000

4. (58%) F7t M2k =21 3.

ol
H 7

A
al

Ll
ot

s
rE

Y|

rr

NO| F0{TIC,

A

4n

I Soll= NSl 5 X1, Xo, -+, Xn0| SHS AHO|0f] £ X}2i|th 2 oIt

11 12

Hmet 3140] Foltk. of GAUIM, W 27t H4 o5 F4Z

obstacle (2 of 3)



<
100
mr

ol

o
—

ol

il
i

oK

Of| |

of|d| 1

e

o

2511

ofld| 2

22

14

7 20 25

oAl 3

fr

1458

obstacle (3 of 3)



